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Preface

Each pupil is unique with respect to learning ability, academic standards, class
room learning and academic performance and each has his/her own pace of learning.
The question pool is intended to provide learning support to pupils who lag far
behind their counterparts in academic performance. This material strengthens their
confidence, enhances the ability to face questions and answer them effectively to
attain high scores. It also familiarizes them with indirect questions and equips them

to answer with confidence.

This question bank is based on the NCERT text book of biology class XI and
class XII and it contains model questions that appear in public/board examination.
The ultimate aim of this teaching material is to help pupils who have fallen behind to
learn to the best of their ability and to bring them back into the mainstream classes as

far as possible.
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REPRODUCTION IN ORGANISMS

One word answer questions. Each question carries 1 score
89 QAUIHH|T DOMOORPYM)dh>. BIBOI GaldBy@MIM)0 1 MVEHHOA

The period from birth to natural death of an organism represents its.......
80) RIalw)es Lmmo @@ BEEMo AUSOWIBSB OISO

Morphologically and genetically similar individuals are called .............

Q2ISMOAlAIW)o RMIOE IR0 MAIMAIW &laile:806M.........

a. Twins b. Drones c. Clones d. Hybrids

Which one of the following organism has the longest lifespan
©26¢ ®MIB1EOMAUDIED ag®) =10N8606M aBQQjo B)S)OE3

2ailosoe1wsal
a. Tortoise b. Horse c. Cow d. Rice plant

Observe the relationship between first two terms and fill in the blanks
@YBLOOD 06N8) alB68RU3 Melenss mIMbo amqJlenes),
af15)Ea0@® al)claflee)s.

a) Yeast : bud
Chlamydomonas :

b) Penicillum :
Sponge : gemmules

Which aquatic plant is known as ‘terror of Bengal® ?
“eniooglond 1o ag)MOlWea|S}MO® aB® REITVIVYAdEN) 2

a. Water Hyacinth  b. Hydrilla  c. Pistia d. Salvinia

Observe the relation between the first two terms and fill in the blanks.
@RBLOOD 06N} IB68RU3 melenss niMbo aMAJIRIES)]

afl3)Galo@ al)@laflee)s.
a) Unisexual male flower : Staminate
Unisexual female flower :

b) Lays eggs : oviparous
Gives birth to young ones : gemmules
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10.

11.

12.

plant flowers only once in their life time, generally after 50-

100 years.
(MVOWOEM 50-100 AUBAUEBBUBHE)BUdaHO, 2211 B30I 13

BO1BOG3 D@0 Al)@O)M AUNVIAOEN) ..ooreeererererrrncene.

___is a plant that flowers once in 12 years
12 AURHOW]GE3 BONBOHTED Al}BOYOM AVAVIROE) ..oocerreererrerennee

Observe the relationship between the first two terms and fill in the blanks
@RBLHO ©6N3) all6BRU3 Ga)N8s niTWo M1o1e:H]a]

af15)Ga0@® al)claflee)s.

a. Primates : Menstrual cycle
Non-primates

b. Female gamete : ovum
Male gamete

Organisms that possess both male and female reproductive organisms are

called . Example iS....ccccovviiiieeinnnnn.
M@ al)@)aH (Al@)LIAI0BM @RAIQAQIEEBRUE, QI E6MR)o
HMOSIMMN ZIUNDOS oo ag) M) ailgles)mm).

.................... 60) 9B9aNO6MAI6M).

Identify the bisexual organism in the figures given below
@069 ®MIBlee)mM 2il@eaBgl@d Mim cileflovilow &lail

a@®96M ?

Archegomiophore

A

Every sexually reproducing organism, including human beings begin life as
a single cell, the ........

06I001d (al®})LIa10BMMESS f)alo Raile:g)o, AM)aU M)U86aleS
@®6B38)6S RIAUGo @)SEBBYM®, ........ )M af)dGHOUDM) @D
alamoeny.
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13.

14.

15.

16.

17.

18.

What is the advantage of viviparous organisms over oviparous organisms ?
(advafleeym  lalle:des msaisym =lalleg)es cae)ss emso

ag)OmoeM ?

Answer the following questions. Each question carries 2 scores.
@GSN GaldBL6BBUBE DTMOORL)M)E:. BIGOVI B2loB @mIM)o

MGHHIB 2 AUl®o.

Correct the mistakes and write in the correct sequence
O®Q)&H U3 @)D VDOIWIW (HAODITD )P

birth = reproductive phase = Death > senescence or old age >
juvenile / vegetative phase

Match the following
Gal®)oalS] GalBH6)d:.

Elephant : 20-50years

Rose : 15years
Dog : 5-7 years
Crow : 60-70 years

Higher organisms have resorted to sexual reproduction inspite of its

complexity. Comment.
mus18emaceemelane 6©6cloWld (al®§)EIaldBMOEmeMmM@oET

@AM lalle:u8 @ralciomilaflelenm®. mErs)es @RElAldWo
Q) 9) @) B>

Reproduction is a biological process in which an organism gives rise to
young ones. It is of two types. What are they ? Mention any two

differences between them.
21®08 )@@ ®RIN)0WEH ©)alo MTIBHION ORI E:

(B (Al®{)RIal0BMo. @ O MOMAYENS. @A
AR08 ? O OMIANSS aBeO@EsIAN0 ONS QY@ OTVEBRUB
) LY @) B>

Distinguish between seasonal breeders and continuous breeders
mlruem@d (eI lwdau)o &eN3SIM MY (enIlwdau)o Glanss

Q@000 af) LY@ &>
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20.

21.

19.

The given figure shows two types of asexual reproduction. Identify the
organisms and type of asexual reproduction.
N3O0 @ROBEIOUIH (al®})IaldBMo @REM 2ill@@HIGI.

270568 @0120lW)d. aB®) @O0 (Al®§)RIaldBMMAeEMM)0
B 66RO .

Identify the asexual reproductive structures and the organisms which
exhibit it
2@ $06mMaflelee)m @Re6RIOUH: (al@®))LIaldBM

22ISM& U3 @1012J01W)&. @A (al3BWTlaflee)mm Ralle:68wW)0
@1012J01W) &

In water plants a large number of male gametes are produced. Give reason
20IMVMVLEEREIE8 W80  aljomnl1REEBUE  Bal0GEOO]SIIM).
&H006MeRTD ?

2
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22. Identify the types of vegetative propagation and the plants in which they are
found

@6 @aN1Blee)aN afllmeesgled mlm) aflalwwlmo &owlse
(IRMMOIGN U HOMBOD)E:. @R ABOMINEE MUV 6BBERI06M)
$H06MOM MVOWILN) B af)MN) af)PyO)bb.

23. Complete the flow chart
a0E8O 21083 al)BEINAOB6) .

Events is sexual reproduction

Pre-fertilisation event i Post-fertilisdtion event
B Gamete transfer C D

24. Observe the figure given below.
®26¢ @MNIBlEe)aN aill@o M0 1e:Hle6) s

A

Identify the type of gamete and explain with the help of an example.
aB@)®00 NI1R BHOUDEBBBMIA o))  BHOMRBOE] OBIANO6EM
Ma0l®o AUlG]E6)b:.
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25.

26.

27.

28.

29.

In coconut and cucurbits, male and female flowers are present in the same
plant. What are such plants called ? State whether papaya and date palm

belong to the same group. Justify your answer.
emearElano HUS80leeW]Ro0, BRYMBal)dO8)o HalfMal)dns8)o BGO

MUIIEDITS BHIEMOQIS)AM). D MVIVIEBEOS gD Allgleeam).
ala0Q®)o HVMalNW)o ME® (N)aflTBea|S1ER0 ? M1ER8)AS
DOMOO0 MVOW) B O1HE)) .

Complete the table
alSld al)ROIWIHe) d>.

Name of organism

Chromosome number
in meiocyte (2n)

Chromosome number
in gamete (n)

Ophioglossum | = -—-eeeeeo 630
Butterfly 380 |
Onion | e 16
Maize 20 |

Give one word for
BQOIIOBOP) ) B>

(a) Process of development of embryo from zygote
MIe@oeMm WEMI@3 M1 (B)6Mo OENBIBIAM (alld> W

(b) the female gamete undergoes development to form new organisms
without fertilization

el muocwovadlgpe® @1 o an@lw =lalles  ©)alo
M@ ) MN).

Based on the site of occurrence, fertilization is of two types. What are
they? Explain

1R MoBWIMO af)lesS MSHSMN) af)M@IOM @RSIMNIMAIHE],
enI1RMocWoIMo 6] Moo @Bl flelenyMm). @RA aBO®I6ds ?
iluoB 18 0166) b>.

Based on whether the development of zygote takes place inside or outside

the female parent, organisms are divided into two. What are they ? Explain
Me@oeMWEmlem aI8ds) Q20OJNATIECDIONMG  GRE:OMOEEMO

@RC®O aJOMMOIEEMO MSHHNMN@  afM@OM  @eSIMOOM O ES
Klailees 0mow] ®oo ®@6lojlolee)am). @R oBO®Ied ?
lcuelee) o

2)
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30. Explain post fertilization changes in a flower ?
NI1RTVOCWINOBIM)EUdAHE B0} al)ilenezod)M  A0QEBRUY
)OI HE ?

31. Answer the following question. It carries 3 scores.
@IG1EN)M GaldB MM ORI . BaloB ODIM MUCH A

Find the ploidy of the following plant parts

@969 @MIBIEHIIM MVIVIRINEEBRSBIOS ColoWIS] ag)9)@) 6

(a) Ovary -
@R6M WIUOo

(b) Anther -
al©Eow

(c) Bgg -
@ermalo

(d) Pollen -
al©IUNBO6M)

(e) Male gamete -
aljoent1Ro

(f) Zygote -__
MU1Em®O6M (Wo
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SEXUAL REPRODUCTION IN FLOWERING PLANTS
One word answer questions. Each question carries 1 score.
BOQUILS 0D DODOSALION . BIGOI GaldB LEMIMo 1 MUEHIA ldo
Choose the correct answer
(OO ST IORETINS)EDTHP) D)
The ploidy level of microspore is
06D HIMNIGAIN0OM Gald1nw] an®)m &

A) Diploid B) Haploid C) Triploid D) None of the above

A date palm seed discovered during archaeological investigation retained viability even
after 10000 years. The retention of viability is due to the state of inactivity of embryo
called .................

al@ Mmoo (UBUEBBUISE CUOAUANC AMEMAM@IOS AlED ahEOUTI®) "
&0 HOMROmIWeaud =RIameuncw] @emeals). D@IM  &OCEMAIW @16
ol mMladdl &l@o0IMI0 e @ROIWEeAISIA).

Vallisneria is a plant that exhibits
aoeilmiemolw 6alsilod &0emomo)
A) Wind pollination B) Water pollination  C) Insect pollination D)
None of the above

In angiosperms, the fruit wall protects the seeds present inside them. Give the term
used for the thick protective covering of the fruits.

ahadinil® muaueeBsIod. aDeiERs)es Clomiwoem Growemssieal  allomlem
MoBHUIBMD). ADLIERSBIANS MM &SIONSS TVOGHUI @RAUOMOMINMD Gale®
Omo6Mm?

Note the relationship and find a suitable word for the fourth place.

@ABLOOD alB6ER&)HS MITWo OMIUIRIISHID CUdato GIR]al MIRIIAND® QUOHE
AN IO &

Female gametophyte: Embryo sac

Male gametophyte: .......cccvveeeeenn.

The outer wall of the pollen is made of a hard substance which makes it viable for many
years and resistant to infections. Name the substance.

ah0o Elom BlLWEIW alrddmOoe &2 MBI lo)lemmM@IMIod  alodneosrmallay
@ReMa &Hoelo 210lE6HIMIo @REMENIIL SaldEHIMIo &Ylho. ah0o Elom] mldon]ailo]
AN AlB0ACLOWIONDE CalO@P) @) bs.

A typical angiosperm embryo sac at maturity is
@M @M eoMiGalo aMol NilE@IMLIE

A) 8-nucleated B) 7-nucleated C)9-nucleated D) 6-nucleated
The development of pollen grains in angiosperms is called..........ccccvvvvvvvvvvvnnnnne.

@M= eI calnlod Cald8Me NWMIENZIH M (al@amcosm) [adl &1
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10

11

12

13

14

15

The innermost wall layer of the anther is
@O (al®3?]) aROONo G@RGHEOTD Al0s]IeM.

A) Epidermis B)Middle layer C)Endothecium D)Tapetum

In some seeds such as black pepper and beet, remnants of nucellus are also persistent.
This residual, persistent nucellus is called............cccceeuunnn.

SOM8H. ITNS msearlwes alomeslod alao aommm muemualim’ Mleimlodes
M. 0D MUBTVAIMIIEM ... ] S BN TN,

Pollen tube, after reaching the ovary, enters the ovule through the micropyle and then
enters one of the synergids. Which part in the embryo sac helps in the entry of
Pollentube?

caosmsumimd &ouolwled anom@@lm)  GUdalo eeRCIE:Ienqelled @es &Iuns]

paiom & ovlmdelcdmiled  1aleuwlaaman).  amolenfleomuidlem  amon  @2@dem

@M MVANIW]EMMD?

Answer the following questions.Each question carries 2 scores.
@269 MMM @)L GaldB6ERIDEE OO0 AN . BICOI Cald3\@WIMo 2 MUEHIB
afloma
When the pollen is transferred from anther to the stigma of the same flower,the
pollination is called autogamy.
80 anaillem aeEonlwlad Ml oalEINEREMENUd @RE® ahailem Al TMOLIGTD
Al®EM MMM BOGSINGI.

a) Cleistogamous flower are invariably autogamous.Explain.

&1emomoamd ahdeud @aesIn aamuasm. ailune]dolee .

b) Geitonogamy is functionally cross pollination, but genetically similar to autogamy.
Justify the statement.
ORaMEMINA). al®allINEM [alsloaissmeslele ROIM@E A0 B0CSINAIWI
6. alvoa]leolecm .

We can see many embryos in the seeds of some plants? What is this phenomenon
called? Give two examples.

aflel cuovieER&lad  AllomM &Eld 88 SISO [@16Mo  HIEMeAlSITMINE.
aMOMOEM 0N [al@IEIMI0? 2 DBINBEMEERUT NI & ?

Apomixis is a form of asexual reproduction that produces seeds without fertilization.
How is apomixis important in hybrid seed industry?

@Ealoala:mIm) anmmo@d milRmocome Msence® QO ©MROE M @Re6LRI0
N ol V@BalIMEI®I@osm. AloamMI]E: @rSIruaImomIed ruBsolGD ©eiald
BMOMIGE @REAIIATSMUINSOHND 1aI0WOMo aM(D)?

Artificial hybridisation is one of the major approaches of crop improvement
programme. Briefly explain the steps in this technique.

SUOI2 UBVIVEOEMo @R @BAIIBMEHIIBS Allsss16s MIGmIEMODIM 8s
B0) [aWIMadNEIeM. oM quicsdisalsianes alalw caisesud ailtwei|ecle
.
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16

17

18

19

20

Some fruits are developed from parts other than the ovary. Name such fruits. Give two
examples.

@REMLINWOMIEE MlMee® allel aneiEERUd DENRIMHITMENS. aRMIEM @ a0l
683032 O6NE ORIANDMEMEBRUD aMPIM) B ?

Observe the figure. Answer the questions.
alllmo Mlatlal GaldR 8BRS OTHOEDLI DN

s m Pollen Products
Fe__'lfcllk-n
¢ Cream

a. List out two uses of pollen products.
AlDINCOEM) DOBNMEBERHS OO OalCQINEERUD aM®ION &:
b. Pollen grains of many species cause severe allergies in humans. Give two
allergic diseases caused by pollen.

aflel Miallaeflnd LIV EEREIAS AlOINCEEMESUE EMaUIGIT &SIom apelde] DenRIA
). alOINEOEMENUD ORI 06N @reIdE] COINEEREINS BalHDS)@) &
The developmental stages of male gametes in plants consist of microsporogenesis and
male gametophyte. Arrange the following terms in their correct developmental
sequence.

U eERS1E @aendentIReER81As MIBRIEMOEHITd DG &HINBAIICNIREMMUIMIo
62WT3NoAE0066a00I0 DENE. MIHYAI0QIIN AUISMEHOS VOIWIW O IMIWIGD |&Ha’
D .

Pollen grain, sporogenous tissue, anther, microspore tetrad, pollen mother cell, male
gamete
Answer the following questions. Each question carries 3 scores.

@269 MM @)L GaldB6ERUDES OOMOO AN . BICOI Cald3\@IMo 3 MUEHIB
aflme

Flowering plants have developed many devices to encourage cross pollination. Find out
any three such devices in angiosperms.

ahadiailemm VLRSI AldAlEINEMEIN alelilWaIdN6ERUd D6, 3 [alom
alS DOBUWEERUD AP Es.

Pollen grains represent the male gametophyte.

AlOINERM EaUY ARWIEd 1NIEIG0IAeANNOM [al® MW le:dlaeam).
a) Outer hard layer of pollens is made of.......

al®INCEeMAIEN88 aRO0No aOCAWISS ald&SIWaeM...............

b) Name the two cells present inside a typical pollen grain. How these cells differ from
each other?

alodneeeMallom GR&HOMSS M (AWIMOAS GHOUDEBU aRO®EIN? M
GHIUIEERUD MIMENS8 QUL \IMVEERUD aMemEldo?
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21 Observe the diagram of young anther given below

22

23

24

06088 Aol es allimo Mo 1&:dHlal CaldE\6BRUBHE DT DS &
a ) ldentify the parts labelled as A,B,C and D.
A,B,C,D cov68803 @os@iseals)om) s

b) Which layer nourishes the developing pollen grains?
AlEanesmM MIGERIeMOIGS CGaldaHdho MOBEIMM CHIDAIIS] aR®?

Given below are some of the characteristic features of flowers based on their mode of
pollination. Classify the given characters based on the mode of pollinating agents.
AN BHB16S al®INEMETIM MUANIW]IE M [AlCM\&HMSHSIM aNAS CalAamId]e
an@).
Pollen grains light weighted and non sticky
Nectar present
Large conspicuous flowers
Well exposed stamens
Feathery stigma
Pollen grains covered by mucilaginous covering
Al®INCOEM EHUD BO00 HOANSSMo &BSlailslenscmmassm).
GOMNE.

el ahess)ems:.
@ OMMIOLM N CHhTMUDO
al@JneMmmuoeo................
Al®INCOEM EHUD AULIUPI AN SSOIWIEM
Certain fruits are formed without fertilization and hence seedless.
IRV CWONO MSEHIOD ~NLIEERUD OEMRIIMM). alGS&HU Al &Ud &osmanlal

a. Name such fruits.

M a0RIERUILES M Cald M@das] allglesom.
b. Give an example
ORIN0EMEDEP) O s
C. How can this phenomenon be induced artificially?
&S\ 0200W] OT MSOD M EBREHM?

Observe the figure of an angiospermic embryo sac and answer the following questions.
a) Which are the events in double fertilization?

silenilzmomuseimomlem alalweeisaBud are®meldo?
b) Name the triploid nucleus formed as a result of double fertilization.
ailenS =2ousselMo. U120 ISIcalolol mueI@mleam anamallslesom)
c) What is the fate of PEN and zygote after fertilization?
d) sflx=ouseinomlm Guoato PEN-Mo qUlemosmuomlmio anam Muocilesom).
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25 a. Observe the diagram and label the marked parts a, b ,c and d.
aflimo Molelad a,b,c @o d o @eRsWISHAISIOTN &
b. What are the cotyledons in monocots called?
ardenile cumruieersleal mlRaiomend Galeoam?

c. Write one major difference between dicot embryo and monocot embryo?
silenf1z2 I@emomemdic aR&MNI1R I@6MOMIGIII0 B0 [AIWIMeAIS U@ IIMIo

aM@100 dbb.

601 omaam AUSRLOQOHIQ alaHallom rrum\m'lanﬂ eomne’lmﬂ afllmmoem
mrcﬂceﬂm}'lm'hﬁﬁnﬂmm alllmo Molelal are@&sleno mo(el RIUNEERUY @RSWISHAIS)
OO .

75




10.

11

9. STRATEGIES FOR ENHANCEMENT IN FOOD PRODUCTION

One word answer question. Each question carries one mark
BQOAUIEE 1T HOVMOOALIDY

A group of animals which are related by descent and share many similarities are referred
to as:
a B0 IMLOMILR0 IO al® MVIBUDOD 120 BG NEMMD 1@ HalSHM

20000 alO®YM O
a)Breed b)Race  c)Variety d)Species

Out crossing is carried out in animal husbandry because it

83 G(@IM16B3Y 2 yNMoHHMABINOB @ 6.21Q MM  f)aoi Imoeny
a)Overcome inbreeding depression b)Improves the cross c)Decreases heterozygosity
d)Increases homozygosity

Sonalika and Kalyan Sona are varieties of:
omoemdalld , &a1§2eMEaVI6MI N of)a 160 AUBREIBW /NIhEEGo GREM

A) Wheat b)Rice c)Millet d)Tobacco

Thaichung Native | is semi dwarf variety of:
000.ae3 emQlOT | of)a0 100 60000G | GREN
a)Wheat Db)Rice c)Millet d)Tobacco

Name the strategy used to obtain virus-free plants
00NUOM NDWILPOM MAVIEBBMD  QANBIGHIM Mo OaleWIUI 1B

ld (s @D
a) Micropropagation b) Meristem culture ¢) Somatic hybridisation d) None of these

Which one of the following combination would a sugarcane farmer look for in the
sugarcane crop?

MIOLaIO®YM af@I6N B3®) HOIMT BG HHM B® 1M 1D)eM(AIBAIW ~alISd>o
a)Thick stem, long internodes, high sugar content and disease resistant

b)Thick stem, high sugar content and profuse flowering

¢)Thick stem, short internodes, high sugar content, disease resistant

d)Thick stem, low sugar, content, disease resistant

Use of certain chemicals and radiation to change the base sequences of genes of crop
plants is termed:
85 10emeBRE 0 MIMVAIBIBMNEBBE 0 DaleWIN o] KM@ AdQeyNSIB6 | A RO 1@

Ag#68 9ala1561a{lenm Blo] Grem
a) rDNA technology b)Transgenic mechanism c)Mutation breeding d) Gene therapy.

The scientific process by which crop plants are enriched with certain desirable nutrients is
called:
QN8B0 GaldaHBHBRMAT ©ENBIEYM LIV (W AdBNAI6NY

a) Crop rotation b)Breeding c)Bio-fortification d) Tissue culture .
The term ‘Totipotency’ is the fundamental basis of tissue culture which means,
Slat 3 0D 2J0 100 @osTrundmaden 6sdglea1d3mdmi1. @ ©EgwE1eemMY

a) Generate whole plant from any cell or explant b) Bud to generate whole plant
c) Seed to germinate d) Cell to enlarge in size.

An explant is a
alf) & Mo ]G )Mo
a) Dead plant b)Part of the plant used in crossing c)Part of the plant used in tissue
culture d)Part of the plant that bear flower

A collection of all the alleles of all the genes of a crop plant is called....................
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12

13

14

15

16.

17

80y aflgayes €lmlen Gre/leR®:8205 MWAIaNIEOMD alOWIM@IEM........cccce :

Answer the following questions. Each question carries 2 mark
@0 OB 62103 (6BBUEE HOMOONLITD: . 633G G218 O Mo 2
My e A flmo

Single cell protein (SCP) produced by
o) GHd00 Mo (OO ©ATa 130G lalO)MAU@IEN ... & v,

See the relationship and complete

enimwo aMMI1aId &6 ] a i@ 1o (166,

Improved cattle breed : Jersey :: Improved chickenbreed : ......................
Inter specific hybrid : Mule :: Cross breed hybrid e

A few statements are given below followed by a set of terms in a box. Pick the correct
term and write it against the appropriate statement

@M@ 1660 UM OO @O GonIdd: M@ @M 1@ 166M AW @I a {1664
a. Mating of closely related individuals within the same breed for 4 - 6 generations

b. Mating of animals of same breed but having no common ancestors on either side for 4-6
generations

c. Mating of male and female animals of two different species

d. Breeding of unrelated animals

i. Cross breeding ii. Inter specific hybridisation iii. Out crossing
iv. Out breeding v. Inbreeding

Complete the flow chart by filling A, B,C &D
21D®S alydepadoed A, B, C & D aly@la(lee)s

‘Single tomato cell A

Cellwall digetion

B (fusion)

C (hybridisation)

l

D (term used to such
hybrids)

Controlled breeding experiments are carried out using artificial insemination.
a) What is artificial insemination?
b) Write any one significance of artificial insemination?
MO (IBMMo (aIWIMAIWo §21QYIMA & (@ 1 nfleme:eimoo 1ees Grem

a) &) (O enflmueeimo af)MI@ afoammy allusadens

b) &)@ 2 migmeaimomlan 6o EMIo )L
Through tissue culture it is possible to achieve propagation of a large number of plants in
very short durations.
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18

19

20

21

22

23

a) Name the method ?

b) Name the progenies of this method ?

¢) What is the unique property of such progenies ?
d) Give an example

Slat§) 0D )10 MEYBEY B)02]) TVAWO OIS &hJSIM@ MV |6BBOE
ENBIEN o0

a) 60D (ad(d> 1@ af)mOem ?

b) en®1aRes &15M MG B8 o)A a 0@, ?

) €00 MDD IS (alGD | D af)0) ?

d) 60)89BIaNMEMo af)¥)0)d

a) Name the yellow mosaic virus resistant variety of Bhindi
b) Which breeding technique is used for the production of this variety ?
a) OWELP  0@IME  eeIOMlem  (lwleedwlendm &H¥lanss

OOLEMB®YOS NMo @ ?
b) @9 @meom ©alaldEla{leOdM afOy (IBMM/MUEEM, GBEM
O lE®IUY 1.9

Find the odd one out by stating the reasons.

BQWIOM BHENBOMYE> . HI6Mo (L 1EBAIH)E

A Jaya, Ratna, Kalyan Sona, IR 8.

B Pusa Komal, Pusa swarnim, Pusa Gaurav, Pusa Sadabahar

Some released crop varieties produced by hybridization and selection for insect pest

resistant are given below. Complete the table .
2O OISO 1@ 166 GSenT1td o lYBOTD @ 166>

Crop Variety Insect pests

Brassica Pusa Gaurav

Pusa Sem -2 & Pusa Sem 3 | Jassid, Aphids, Fruit borer

Okra

Name two controlled breeding programmes practiced in animal husbandry
8200 MBOEMOD IMIW ] §a eI 186 2 HeMd e[S (enflawleds! @ ldndo

)OI SOWIEM

Answer the following questions . Each question carries 3 marks
@26 M@ 1H6)M 62108 BB H) OO0 af)P)OYE . BIEOD G1dB M0 1Mo 3

MesI0 Aflmo.

Expand the following terms
Al 1a {10.0j904
a) MOET b) IARI c) SCP

Breeding crops with higher levels of vitamins and minerals, or higher protein and healthier
fats — is the most practical means to improve public health.
MU § MUEEMOTD 121360S MEYDE) GaldHBNA1(ER (L1808 O@aldEla (800

a) Isthisis possible , if so name the technique ?

b) Give two examples for such crops.
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25

26

27

28

29

c) Write any two objectives of this technique ?

a) eNO MVIWJAIGEMD , )& 1@ af)INIEM G AIBWo

b) B OBIAOEMo )W)

) €0 MIECB: BB (WOS NS BlHH (68B3UD nf)PIOYd>

What is MOET? Which hormone administrated for super ovulation? Write down the
steps of this process

af)amoen’ MOET ? M3a|d 8201REAIHM  GOUAME] ©alG@IUT186)M GaNIBERI6M
a2, eo@lem allaflw caigeesu )Py

In fisheries different techniques have been employed to increase production of aquatic
animals
a) Name the two methods used in fisheries
b) What is blue revolution?
ol Reiglafleges ala198maR@d® enimeq]g1@ 1eenm)y .
a) alladOIM@ 9alec@Iuilenm oae B0 &0 af)o®edo?

b) af)omoeny enjy Gleaudal ) ?

You are an agronomist working in the area of plant breeding.

M6BRUd 630} o oM ) (nTlA@ BROEMM) &Y

List the various steps that you will undertake to release a new variety.

80) O MO aRgs MmMo ©MeIHOIMI] Mmleesuwd Mmiadienm
caigeaneg aflqy ©.o1Q s

A 250 kg cow produces 200 g of protein per day but 250 g of Methylophilus
methylotrophus can produce 25 tonnes of protein

a) Name this emerging area of research.

b) Explain its benefits.
250 kg 988 630 a1 250 g 6(a12510 630y Bl ©aTa 156 ]a{le6mIdw 250 ©88

ca® 16ada01aTMm) 25 sem G(ald51M ©ala1d61a{leenym;
a) a RO HWAMYOUYM D NEUHEMOD 10(Y  Galo@IMIEN ?
b)@RM 100} O IcWINEB3UD (N0EEB 1868

Cross breeding is a most valuable breeding programme in animal husbandry
a) With the help of an example explain Cross breeding ?
b) Write any two benefits of the technique ?
MEBOW M (nIRMMo AYNMVoHHMANEINOB 1081 B3 M(AlWIM (al(d: @I

a) 80 BINMODTIONG  TVaNIWOMIG MVB:EW M (aIBMMon])MIT
af)oomm A wead86)H
b) €M 10N} EENE 1EMEBBUD () P)OY
Match the following
G21®onlS] G.21BHE)) &

A B
Cross breed sheep Honey
Green revolution Hisardale
Biofortification Hybrid millets
Hinny/ Mule Atlas 66
Apis indica High yield wheat & rice
Water stess resistant crop Inter specific hybrids
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31

32

33

Column'A' ' B"and ' C shows new varieties of crop plants , match the plants correctly

with their varieties and resistance. A, B, C ¢.2100alS1 621386

A B C
Wheat Pusa sem-2 Leaf curl
Flat bean Himgiri Fruit borer
Chilly Pusa sadabahar Hill bunt
Cauli flower Pusa sawani White rust
Okra/ Bindi Pusa snowball Chiili mosaic virus
Brassica Pusa swarnim Bacterial blight

Bee-keeping is relatively easy but require some specialised knowledge
1. Write any four points that are important for successful bee-keeping

2. Name two valuable products of apiculture ?
c¢OM 2JUBBOM@ UGOD af)Ba|Bd6M of)MIG BRIy aldlWlaimorlaes

(a1G@ | B> @RATNT GMsemo
1 6O 2j0gd0m@ (UoryleHnMs MIAT #6880 nome o
2. @R [lee0d2j0lales alEle)m a8 H alMEBBUD Al

Sonalika and Kalyan Sona two high yielding and disease resistant wheat varieties , were
introduced all over the wheat-growing belt of India

a) Who developed them ?

b) Which institute developed them ?

c) What is their significance ?
&Al{26eMEaI6MI , aauIemIalls e e GrIm® la{la @ens)

BRM)LT 1DBMEW 188 CNIMMT HMEBRUD @REN .
a) ©@ROIM OUO® MV yaY o0 ?
b) ()@ MLNIA MO RN EDOIO® TV Y12 ?
C) EDNIWYOS ENS PEMEBBUD n(OM 0 ?

Which breeding technique is adopted to create disease resistant Mung bean ?
They show resistance against which diseases ?

CRIN (IO 16EIWEH1W)88 6210)a @@ Mdex 9] (Enflaw]ed (al(d 1@ af@ ?
600 6.210)a WO 1M ~PODMIOS CRINEBROG (al® 16EIW]EOHIM B W0 ?
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5.

BIOTECHNOLOGY : PRINCIPLES AND PROCESSES

One word answer questions. Each question carries 1 score
89 QU103 DOMOOHAL)®)H. BICOI CaldB EWIM)o 1 MUEHIB all®™o

The specific DNA sequence responsible for initiating replication is .......
©0/1E86aud @R)00E1Ee) MMM HoOemMa0w DNA @uosmlosm
(a) Plasmid
(b) Origin of replication
(c) Recognition sequence
(d) Palindrome sequence

Expand PCR
PCR o allé:miloo)alo ag)9y@)d.

Identify the technical terms
MOBB®® alBo aBO®M) GHEENSMOTN)H:.
a) The technique used to separate DNA fragments
DNA & atiemesnes @086 9alc@ouiles)m
MLOGH-® 1B BY

b) The method in which recombinant DNA is directly injected into the
nucleus of an animal cell
0leomimag DNA 6@ 25000001603 admomilealss emalg
somlailsyon ol

............ was the first isolated restriction enzyme
@R} GAUR®G16 SO HOMI(SIBHT ag)BrLIaoe6m)

Identify the technical terms.
MIBB:M ] alBo a@OMAN BHENEBOTN)b:.

a) The method in which plant cells are bombarded with high velocity micro-
particles of gold or tungsten coated with DNA
DNA @R)OUOMMSS MIBENODOMBEWO Qo) TVOMBEWO
M) &N IGIRMABROHS DWABMM  (AIGAUN@MITE TV BHIVDEBRS)
2001 &)5liSlafleeymm 1ol

b) The technique used to obtain multiple copies of a gene
B0) =’mlend @RGEMd»0 aldH@a ) BB SHOMNAIHHITD
DalEWIUHE)MN TVICE®H OB
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1.

12.

The enzyme used to join DNA segments is ......
DNA e)m)u‘)’@rggoeaag 835la)) GalB@HH008 DalcWINEe)aM
ag)Borvlmoem........

The enzyme used to cut DNA is ..............
DNA 6@ 20186903 9alc@oN]EenmMm af)Bruiaoem .........

........... is used for staining DNA fragments in gel electrophoresis
OROS DRIHE(SI Eand0MUIMY1Td DNA £af6meBBudss Moo 605)86008
................... @M DalECWIN]He)MN®).

The vector for T-DNA which transforms normal plant cells into tumor is .........
MUOWOOEM MUV BEHODEBRES SL1AB @S] @0g)aN T-DNA @)6S

Write down the suitable enzymes for treating the cells mentioned below.
©96¢ M@3H1WIB1HN)M CHOU6BRSIGY (AICWIUITHEHIMD @PBM)EWIR AW

©OMVOUNNBHUB af) Py @) db.

Bacteria e
NI S 101

Plant cells s
(MUY § BHHOUDEBIRUB

Answer the following question. Each question carries 2 scores.
@MMIG1EO)M GaldBLEBRUIHS DOMOO af)P)@)d. BIGOI GaldB)EMIM)o

2 MUEHHIB Al®o

DNA Fragments of size 500bp, 1000bp and 2000bp are separated by gel
electrophoresis- which fragment will migrate fast. Why ?

500 bp, 1000bp, 2000 bpag)am? aleflajomle)ss D NA &aHemeaRog 0220
DRIG B(SOBAN0MIIMN 9aleonila] GAUB®GB12J0Gd aB®
HaeMROWIB1H0)0 ABQAl)o H)SIOEB B)00 MVEAUBIHO) . af)(D)OBENE?

EcoRl is a restriction enzyme. What does Eco, R and I denote ?

EcoRI 80) ©00(S1eHd ag)mBauailaoem). Eco, R, I agyamlal agamlem
M) aflafleeymmy?

82




13. Observe the figure and answer the questions.
afll@o MEletla)) B2l0B 6BBU3HE DODHOORL) D) E:.

Veelor DINA Fozelgn DNA

RNNE

Slicky eoud
ERRLLL7\"/,N
Sticky end

|
RNRRITIDHARARA

(a) What is the process shown here?
0fles 2il@1e012fl01ee)Mm (all@:1Q o@@o6n)?

(b) What are sticky ends ?
QU186 )BT ag)MOEB ag)DIEM?
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14.

15.

Answer the following questions. Each question carries 3 scores
@26 OMIGIE6)0N G2lIBY6EBRUIEE DTMOO af)P)®)d:. 6IGOD

GaldBEMIM)o 3 MIEH/HIB allmo

(a) Name the technique shown in the figure
2 @@ H$06mM12flolenyan TVoeE:@ BB aB@o6m)?

Wells
™A —
l Jf"-‘_hnml":u \“El.
Largesal Smallest
rF Irr H I
g /

A Vv /

(b) Explain the process

(1@ AlUE1Ee) .

(c) How can you visualize the separated DNA fragments after the process?
DD (Al(B VW EN)GUaHo BAUAMIG162JS)E® DNA B:atiemeBRU3
B{004MONUOND af)(M)6)2I1Q)6Mo?

What is the speciality of the DNA sequence shown below.
®069@M1B1e6)M DNA GU0eMIW)eS (AIBDIE® af)0mI6)?

S5 e GAATTC............. 3
3 CTTAAG............. 5

a) Name the enzyme used to cut this sequence
oD GIMIOW ?)01EHM DalE@IWIENMM af)MBaVlo a@e@N

af) 9y @) .

b) Draw the change in the DNA sequence shown above after the action of the
enzyme
DY af) BRI (AlUIBEDMEDIM)EUDaHo 2)HS]Td
H06M1aflolee)on DNA ¢uoemwiled 96ns06)M 2000 (Uda])
H06M1H6) 5.
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16. a) Identify the apparatus shown below
@MIEIEN)MN @M aBO@N) &6N=)allS1ee)s:.

b) Label the parts A and B.
A, B agm’ BONEBRUB @RSWIBHS)O1D)H.

c) What is this apparatus used for ?
DD WMOHOG OalEWINO a6 ?

17. (a) Identify the cloning vector shown below.
©06¢ 506 flelHe)M EHoeMloIOHQB ageo®M) @c]loolw)d:.

EroR 1—GCla T Hind [0

P 1

Pat 1 _~BamH [

(b) What do amp", ori and rop denote ?
ampr, ori, rop ag)aMIQ ag)®26M aV)allaflee)ma@?
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18. How can we distinguish between recombinants and non-recombinants ? 3
olemomilnadmyo emoend  ofledmomilmmdaule @G ag)6BBEOM

©®10]2j0loo ?

19. List the different steps of recombinant DNA technology 3
0leHo0mim3ad DNA es&Hemog=lw)es aflalw aIgeEBRud af)9y@)d

20. a) Identify the technique shown below.

®069806MaflElen M MVIEE:® BB aB®? 3
Region (o be amplified
-\-|.¥
5! o i s | 2
d=s DikA
3 5 A
@Ht'—il
i :
TTT T T 77 L1
I'rimers
il e B
SO I O o

T N | | C
= ]
.'fl 5'
h =
Armplified

30 epicles

b) Name the steps A, B and C
A, B, C ag)am’l 2215688013 aBe)®06)£6)

c) Name the enzyme used. From which bacteria is it isolated ?
ofles 9aleINENMM ag)BMVWo aB®. aB® MI0ES 10113
mIMoem @ BB @1016)aJS)Ee)M®?
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BIOTECHNOLOGY AND ITS APPLICATIONS

One word answer questions. Each question carries 1 score.
Choose the correct option.

OIS IS8® G OOETINS) B &

Which of the following genes encode proteins to control corn borer
BHOMEETUO00IaMm MW e6IMss 6lalos1ad midmoemamlal muanswleamm
2003 an©®?

A) crylAC B)cryllAb  C)crylAb D)cryllAc

The basic principle of ELISAiS........cccccvveeeeennen..
ELISA onhes @eslunom eoiagen.............

................................. of ADA gene results in ADA deficiency.

@rwlemomulad cwl @mm’lmamrm’]an@ @R D L0al® @@IENZIE MM @wlemonwlad
wl @raleemwlen =Imlend................ OEIERIEM
A)addition  B)deletion  C)substitution D)None of these

......................... refers to the use of bio-resources by multinational
companies and other organisations without proper authorisation from the
countries and people concerned without compensatory payment

MO \6ERBIES NUIMEAD al6eMGEAD ?I}%IOG)(U) OO0 UM LHUD E@' H UM HESBO

BoANOBOMETUAHEMI OO ENRIIEBTNDOIE) ..oeveeeeeereee. AN AIO@YON@

The organisation set up by the Indian Government to make decisions
regarding the validity of GM research and safety of GM organisms for
PUDIIC SEIVICES ....ovvviiiiiiiiiice e

GM wealausm aeilwlolane MeeHDI0 MEBEIM @l0)IBIMEBBU Halo@ TVAIA0
OIM aMOWEM N OAMLB NAUEMIOANE MVOCLISMMIEN ..veeeeceeeeeeeeeeeee e

An extra stretch of polypeptide tK found in pro hormone of human insulin.
Name it.

anLIaeMd eoMrelnm GlaloGaNd@EAIMITd BO) @RWIS GaldEloalalnannnd @&osm
alSIOM). aMOmIENM?

.............................. Is a novel strategy adopted to prevent infestation of
roots of tobacco plants by the nematode Meloidegyne incognitia
ar® @Imlwoem answlal aalsloleod eaceilwleenad emBedE:INIMlaUl® anmm

aacoonw) Aldaileanmalad mlom s o

Name the product developed through transgenic animals to treat
emphysema.

aMoadllnoe® allslmmvlesond (somomilemmle 2mmesslad mlom afle:mulailal
O@AlMO OB Cald@PIM) d:
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The first transgenic cow, Rosie was developed for production of human
enriched milk. What makes this milk more nutritious than the natural cow
milk?

DM aHL GlaloSTMITB UM USRI ald@d ©@daldGlalleenaiom canel alléaulailal
@M @B L@ [SOMIIRMIE: altd)IUO® GOVl qUIWIEeM altdailmd aloeilod
almio aM®OEM 0D aloeilem &ISIOE@D Galda¥d (1)) EMMSSMILNTND) ?

Answer the following questions. Each question carries 2 score.

Match the following
Gal®lo alS] Galdemdh

a) Antigen —antibody reaction i) ADA deficiency

b) a(alpha)lactalbumin i) Emphysema

¢ )a-1-antitrypsin iii)Rosie

d) Gene therapy iv) ELISA

a) ez - exadlesniow] wmooeuad 1) ADA ecwadlautadou]
b) a -enssocdennalad i) amoadlavla

C) 0 — @xadlislaimulad i) coomy]

d) =18 e@09all IV) ameflou

Getting Insulin assembled into a mature form was the major challenge in
commercial insulin production by rDNA technology. How did Eli Lilly
Company find a solution to this problem?

IDNA ss@&emos=] oalcwainlal eaald eoadonellmd anoamswlenow] aldas]
snmMm® 8o scenailglwowioram. Eli Lilly e:cum) ansarem@osny eom @raiaun
Al®la00]al@).

Many countries encourage the cultivation of Genetically Modified Crops
(GM crops).Write four advantages of GM plants.

GM alsses1es oodalasmo allailw 02 eBBUd Glaln@ruiadlalesmammen:z. GM
0alSlEHBROS 4 CGMSEBRUD ) @) &s.

PCR and ELISA are two examples of molecular diagnostic techniques.
PCR 90 ELISA 90 062 (aiwomeals caosleneinod cweeiemomilm) cmuocs ol
QB U HM 88 DBIAN06EMEBRUD @6,
a) How is PCR useful in molecular diagnosis?
aneErem@oem PCR ev@ilm aquanawileen tmo)?
b) What is the principle of ELISA?
ELISA anes ooieanm?
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Expand the following.
@988l lahelle:o]laen s

a. GEAC Db.GMO <c¢.PCR d.ELISA

Adenosine deaminase (ADA) deficiency is a hereditary disease, where
ADA which is crucial for functioning of immune system is absent. Explain
how ADA deficiency can be treated.

ADA @ralolosdom 680 aloomioiceinagem. oausvlolwlenem  @raimuo]od
ADA ©es @rao\0aim® aneeBeam allslorilesdo.

Answer the following questions. Each question carries 3 scores.

Infection by nematodes causes threat to cultivation and yield loss to
tobacco plants. A strategy has been developed at RNA level to control
this infestation.
all&»Weln oSSl &ladlo AS8OOBaIBMAOANo. AUO&HSINS @l dhaemMo MLRlo
SH10MMIV] Saemom]. aloesins aldalime RNA oeiomlod mlw!amesdo.
a. Name the strategy.
ar@oem o).

b. Explain how this process works at the molecular level.
ec29s16 1@ eeielod MM 1Al (AlUAEM]EMNMM@ an6BReM?

Bt cotton is an example of genetically engineered cotton.
2mols ansilmlcdl amomles ocsoanosmaosm BT Cotton
a. What does Bt stand for?
Bt aaomlema@oem’ aurailaileend.
b. Name the gene responsible for Bt toxin production.
Bt esosmilem aldmoemomlal é:oonm@ =lemo

c. How does the toxin kill the insect?
AaM6BROM M QilaHo n&i(\ﬁoJBEGBG‘)E O2IIMIBIONI.

d. Bt toxin are not toxic to Bacillus and Bt cotton plant, but toxic to
insects. Explain.
Bt c®0s6md ealslaso Bt esosmilad cRIcvmAel altsH  aHOalB68RU3H6 andm1d:
®@IEM.

Animals that have their DNA manipulated to possess and express foreign
DNA are called transgenic animals. Write briefly any three benefits of
such transgenic animals to human beings.

20 =laflesrns DNA #sicaidom DNA®IGE 00068808 qula®islal ©en2o8enm

olailes06m somdamiezmle =aileud
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19 Many plants such as Basmati rice, turmeric and neem etc whose product
are indigenously developed in our country are facing unauthorized
exploitation by many multinational companies and other organizations.
alfl NIaMOIaHIS HTUMG8IESMNo MUoRRISMESIEGS@No @RMWIM\ @AW allaHem
oo, MaMes Mmosleal MUMUIERSIW UMM @RGL. A6OmUd. calal. anmmlauiwlod
amlamy Al mVlailal ©9@dalmeaRudas) emalessnsl cumam.

a. What is the term used to refer the use of bioresearches without proper
authorization?

OIWIY @ROMIGH:INAIRIIOD HOZAUCIMVIMMVIG:SIOS DalCWINADD aAMEBREMWQI

6 afleuuaylailesmmm?

b. List out the possible ways by which a country can protect its rich
legacy?

B0 EIZLOIHME MVIUMAIW Al)OMUO @O MVoEHUEMOT IMIWNSS TVIW AW

USHUB aRO@EI00?
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ORGANISMS AND POPULATIONS

One word answer questions.Each question carries 1 score.
B00IAE0 DOMHOHDLI @ . BICOI CalddL@mIMo 1 MIGHIA allma
In a given habitat, the maximum possible number for a species is called.................... of
that species.
@mauomu  uoelomled 80 Mialladlovlend uow oW  ale@oWw]l  aMEMmMemm
. an) aflglasomn.

Fill in the blanks

a. Organisms try to maintain the constancy of its internal environment by a
process called......cccccvevrveenreennnn.

=2lale:d araues @aamole: aglrudle] mudlenow] alelaoeilemm 1alielw

b. Insects that feed on plant sap and other parts are called...........ccccevvvennnee

mumimioio BO) BONEEBSI0 BMHH ENMN aHUUIAIBEEBEES .......ccocceereeeee. oD il BN

am.

The number of deaths in the population during a given period is referred to as.........

a0 mMllalle &oeiwsalled 2maucel @Gl &IeMIaN AEEMEERSNS aMEMmMAsN)

A parasitic bird laying its eggs in the nest of its host and letting the host to incubate
them is an example Of.......cccveveveeveveceverenns

AlEIBROWISS B0 aldd] ERAUIWIOS MSHUE A0 aled®:3165 515168 WS)BH®Io
@pailes ms allolwasmow] @emMUElEMEG@I0 Hal@ M@ .............0) ©EIaO®EMo
@26 ?

On earth, life exists even in extreme and harsh conditions. Mention any two major
biomes in India.

e1olwled =10t CaAaImMo @RAl@AAIIOIAIW TVIaCaIO\OMIC &IMeaIS)
). OM\BD 98 [alIMEAIS BT MIGWIc aRHMEIDo?

Fill in the blanks.
als1GaIo oo an®@laileem @

a.Organisms tolerating a wide range of temperature:Eurythermal

21alle0d anS Asen AUl@IwIme Masleemmal @101 amAncd
=l 0d AUsen 621010 AGIIMe TVANTBEN TN ...

WIlMEHoal D0H60: HOANENUBEM UMD

DaHMEMEH I OOBEO:....c oo
Many zooplankton species in lakes and ponds enter a stage of suspended
development under unfavourable conditions .Name this condition.
@PM) GRIRARIOOD  (MVaNalO\6ERSI08 &S8OTIANe ®SIGOmIeNe 988 qVIAID
@ s ailé:omve mosisecelsnow] midamludemmalem” allelesmaon.

Many fishes thrive in Antarctic waters where the temperature is always below zero.
How do they manage to keep their body fluids from freezing?

AR EODEN0B)I0 ®IFMN ®OaIMIwed @rMBIdSleaw]ad acruiERud @rl=Tal
HENTMIENE. aMEERAMWOIEM @RI 9N @RAUMINNY MOEMo &l M@ ?
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11
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13

14

Many fresh water animals cannot live for long in sea water and vice versa. Give
reason.

&S eussomiod toevzaiRIale:rd =1aleeo0d @ewlse uao &$olel
@R Galonrl @olalo. EHICEMEAPION .

In polar regions, very small animals are rarely found when compared to tropics. What
would be the possible reason behind this?

@10EL \GO6UD (alGRUNMEBESH6I8)0 (WA alGAUtEBs|d 6al0lw =laile:ud erandal
00w BHOEMBISIM. @I allimlanss &Hoaemeanm?

Answer the following questions. Each question carries 2 scores

Two closely related species competing for the same resources cannot co-exist
indefinitely and the competitively inferior one will be eliminated eventually. Name
the principle and who proposed it?

@ps)om  urwmss Miallalmned 8eo alleuspudementms] aorE 21003
A1deaimoaio MEMIS  Gald®»om  &¢lulal  @osm@ensw =lale:d @l
HOHOAISIM). O@HMD C@IODNT? @6 DD [alMU®O]al@?

Mammals from colder climates generally have shorter ears and limbs. Give reasons.
mEM @& IeIcMmOolenss mmiomle:udes 0210w aalal®&:slo  &HIENG®:S)0
DEME. BHOTEMODLI @B

Plants are adapted to grow in different habitats. Write any four adaptations of plants
in desert habitat.

o eERudes aflaflwmoo AUDMUIMLNARIERSIOE USEOMSBS @R &) RIMEBRUY D6NE.
001G HIEMHAISIOM 4 @RMIEG:ILIMN BIBUIEERUD aMIBN &

Given below is a table which shows the interspecific interaction.”—‘sign indicates
detrimental and ‘0’ indicates neutral, +ve Beneficial

@289 OMIGIEMM Al GHlod +VE tMemal@o, -VE MéMaldo. 0 M@ alB0lo
anm@lem ) allailasnam.

a. Fillin the blanks
alSld al®lailaem &

Species A Species B Interaction

- - Competition
0 S ] e
+ 0O

b. Name the interaction where one species is benefitted and the other is
detrimental. ‘

a0 mlalladlmyla) memaleac@oo a0 miallalmilel eRonuG:en0WoN MO

Al®MIal® 6NUMbo aR@?
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15 The following graph shows two types of population growth curves.

16

17

18

@OHFWNSS [NJaf OME MAT ENSS RMTVoEULI (USBaID [(10aNd6M.

%‘:—{ =TIN
a
~K

Population density (N)—s-
I
-
il
Sl

Time [t] —=

a. Name the growth curves.
ARODIOHHWOIEM EMIVoEUD AUSBaID [(N0an?
b. What does ‘k’ stand for?

‘K’ anavileomaosm auiaflal@snoma?
Answer the following questions. Each question carries 3 scores.

Organisms other than human beings manage or adapt to stressful conditions by
adopting different mechanisms. Explain any three mechanisms adopted by them to
maintain the internal environment.

aleinflweodueEnRud  oaewarilaloem  =lalle:sled qumdco  @REI=Ialemmma.
ARG@E:12N0 3 HOBUIEERUT aMPIBNb>.

Adaptations are the attributes of the organisms that enable it to survive and
reproduce in its habitat. Give the adaptations of
2lafleslod @M GIRIMMEREEE  @RU@IOS  QIOTUMLORIDOD) (ara@":gaﬁlmﬁceﬁaom]o
[al@® V@BAISEME@mIMo  MaNIWIEmaM). @IeY @INICIEMNIMOUOIOS @RMNI E:IRIM
68BUT aM@ION &
a. Cactus plantin desert
0BG HIeMealSIT GasImudaals]
b. Kangaroo ratin desert
ooeB]wlenss &otnom ameil
c. Sealsin polar region
IallalcruoseRglenas mulod

Given below is a bar diagram showing the structure of three different populations.
Observe the diagram carefully and answer the following questions.

DO A@lmi® 2mauoell@es b alli@o @osmlailoleenam. aflimo mle’
Hlal Cal0BLEERUDHE OOMOEDPI® dh

“a. sSelectthe stable population.
a mudlenow 2maUoeI GO
b. Compare the nature of population growth in A,B and C
b. A,B,C =mmucaiiones ais@ald @moamaio ealond

3
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19 Match the column Aand B
A
a) Mutualism
b )Predation
c) Commensalism
d) Competition

B
i)An orchid growing on a tree trunk
ii)Gause’s Exclusion principle
iii) Biological control
iv) Derives nutrition from the host organism
v) Mycorrhizae

A oo B 90 @al®doalS] Galdsn s

A
a) ouaeilmoe

D) raNeowaumd
C) ®mmdaugeilmo

d) eso0a0’laumd

B
1) ncowlen @sloled sodesio aisoom

i) viomlem and e aumd almmlalud

iii) snucwos=leecd ®emeisoud

i) ad =laledled mlmmoe muIsTlaumd @lsiam.
iv) DODEHOINOOETY

20 Observe the flow chart given below:

alE8221085 Moo e o

‘./l' !
I | T Vi
Z Populstion || i e
Density . i
1 | LR

a) Name the processes represented as A and B

A, B @lenss ali&@ anam

b) If ‘Nt is the population density at time t, then write down the population density

equation at time t+l

TYmoweom 2mauosuto qmuaim@ Nt @eeny. t+1 cuoweom =mavosut

MUIMBE M) D) b

21

Different types of population interaction have been observed in a population. Write
the types of interaction observed among the following species:

2M el \Qod gl @eOHeNSs alemUald eUMLERUT &0emmM). Mmissussnaenss
AIRMIAl® ETUMUEERUD nReMAIN?

Species A
Orchid Ophrys
Cattle

Species B
Bees
Cattle Egrets

Sea Anemone Clown Fish
Ticks Dogs
Cuscuta Hedge Plant
Tiger Deer

Type of interaction
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22 Observe the given equation and answer the following.

23

muadd o Melatal @oe® &HIEMIM GaldBEERUIEE DOMOO AMEION d:?

d K—-N
NG

Which growth curve does this equation depict?
M MUAMIG o M allallammm Gmoe® &HAQI aR@)?

Expand r,K and N.
r,K,N aflanersoleem s

How does this growth curve differ from the exponential growth curve?

MM BINODM HBA afNdhMIEAIIEMIBAHLTD GO &HOANo @] QUL@\0
muealslolesmmmemeanam?

List out the adaptations of desert lizards to survive in the harsh
climatic conditions existing in the deserts.
00)BWIed B&HoemM N alellé:S)es @RM &IRIMEERUT afe(MmEIdo?

Explain the reason behind the altitude sickness faced by mountaineers.

AlBOUMICDIANEH@ EMOISIM SWOOANSS CEINDMISNT HIAEMERND?
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ECOSYSTEM

One word answer questions. Each question carries 1 score.
BQOUIHHIE DOMOOAP)M)H. BIGOI GaldBJEWIMYo 1 MVEHIB all®o

Primary productivity is least in ............

..................... @3 @6 (alOL0a]® DOIIBMEHUAD® aBQ)o B0
a) desert

b) grassland

¢) Forest

d) none of these

In a grassland ecosystem the pyramid of energy is ..............
al)@3(AIGRUIHE™ @RIOMAIIAIMNWITE 9DB2R alloaln........ @16

...... is a climax community
.......... 630} HOKAIGTV &AL 6MIGIoeN)

Interconnected food chains is known as.......
AlOMal® MIMWIMAIW BHHY UOL0ELRIG:OS............. ag)am) alO@)).

Which among the following equations is related with net primary
productivity ?

©06¢  O@MIClee)MAURIT  ag®oeM)  OMY 680l HaldWB ]
afldle)po@] eITWeals Ao ?

a) GPP+R =NPP

b) NPP-R= GPP

c¢) GPP+NPP=R

d) GPP-R = NPP

Vertical distribution of different species occupying different levels is

allaflw eeinen&Eled &eMeaiSm MUalleadl)&E)eS Llonaow
alleoemomlem ....... af)(Mm) alo@)mm).

........ is a man made ecosystem
............ 80) aM)aHiMIBCA@AOW @RIV QYQAIMLOWIET).
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10.

1.

12.

13.

14.

Find the odd one from the ecosystems given below.
@969 MmMIE1EH)MM @YUM AIJAUMINBEIT BQOIOM EHEENBOT)D.

Forest, grassland, desert, pond

A constant input of ..... is the basic requirement for any ecosystem to

function and sustain.
aBO®O0) @RAIOTVLAILAIMNWIASW)o Mlaimlaiailm)o (alUBEM@HIM)o
GQUENZ @RSIMLOOM @RYUUDYAIEN) ............ 603 qudload® oBans.

The species that invade a bare area are called pioneer species. In rocks the

pioneer species is ....... and in water they are........
$0) UO)MIBOW MLOLITTD @RBIAIW] (al®)HHUOASITN MUalladlrulom
@M MallaHlm o)) alo@)mM). ald0&H81T8 AleMIWA

Mallarlmy.......... 9o, OHUSSOIDD ............... 9o @R6M.

Find the relationship between the first two terms and fill in the blanks
@RBIODD OME)lB68BU3 @aN8s nITWo &ene)allSla] allgiGalo®
al)@laflee) e

(a)Hydrach succession : wet areas
.................................. : dry areas
(b)Phosphorous cycle : sedimentary

Carbon cycle e

Answer the following question. Each question carries 2 scores
@069 ®MMIB1EHIAN @2l0B6BBU3ES DTMOHRLIM)E:. 630600

GaloB EmIM)o 2 MIBHOQ all®o.

Write down the differences between primary and secondary successions ?
(o0a)® B MUEOMVAHUM)BHU8 GMRNSS QL@ OTVEBBUY

)@

A list of organisms is given below. Place them in different trophic levels
omclemymm lale:e8 allalw 6(soanld: ®rIERSIT3 (&aleO1ee)s:.

Trees, Man, Zooplankton, Grass, Lion, Birds, fishes, cow

The number of trophic levels in grazing food chain is restricted. Give
reason

WIMlol) MUY U0 oeIRINIORI GRIEBBSIOS ag)efRo MIW((Bi1a6M).
B006MONEP) @) b
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15.

16.

17.

18.

19.

20.

What is standing crop ?

qoMWlol) G(@dq] af)MOEDE ag)(® ?

Pyramid of energy is never inverted. why ?
9002 afloalW acleee)e ®als1PowIcles]al  agIeB0Mms ?

Which of the following represents a pyramid of numbers in a forest
ecosystem. Justify your answer with the help of an example.

®oe®  O@MIBlemm  al@eeBEled  a@@o6Mm  MUo6LYO

(aI@IMWISOlEe)mM@  ?
MLOW) B O1BO) B>.

adloalowlem
MeBBBYOS DOMO0  OBIANOEMIMVAOIMmo

A

Match the following
G2l0)oalS] Gal@H6)b:.

A

B

Carbon Cycle
Pioneer species
climax community
phosphorus cycle

Sedimentary cycle
Gaseous cycle
lichens

forest

Given below are some steps in the process of decomposition. Arrange

them in the correct order.

213enmaleng aflel cigeERgM) @69 ®MICIEN)MO. GRAIOW

VORIV (HABTHITCE af)Ly®)d>.

Fragmentation, Humification, Mineralization, Leaching, Catabolism

Distinguish between detritus and humus.
AWS1IQIY, 020U agimlal GeRlenss QY@ SO0V )@ ?
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21.

21.

23.

24.

Observe the food chain given below and answer the questions.
®o6P@®MMIBEH)M BHH 0O o6l MIOle:Hla] @mMIolee)mm
Gal0B|6BRUBEE DOMOORL)D®)H

Phytoplankton—> Zooplankton =>Fish

(a) Identify the type of food chain
BHHU YO 06UAI aFGODM) BHOENBOTN)d:.

(b) How does it differ from detritus food chain?
@M AW(SIQINT @&H 0D 0eLRIRNES MM af)T® QIJ@IIMVAEMSSO). ?

Given below is a simplified model of phosphorous cycle Fill in the missing
parts

GaNOMIan0M al(HO016M 60) AISIORIW RIOIEBHQIEN) @I
©mMIBleeM®. A5)Calo® al)Claflee)s.

Write down any four ecosystem services provided by a healthy forest

ecosystem
@REOINYa)BENRIW AUMATIOA @RAIOT AlyalmuOIEd mlam
BIGIDOBIM a@e@®slalo Mol MEHHIMUITVo HTVAAIMITYT ag)9)@)b:.

Analyse the different stages of succession and answer the question
MEeOeMaHe3 aflallw caigeesud alltodelMo ealY®) GaloBy6aRu3Hs)

OO0 f) YD)

Forest, Marsh meadow stage, Phytoplankton, Reed swamp stage,
Submerged free floating stage, Scrub stage, Submerged plant stage

(a) Identify the type of succession
AB@)®O0 TVEOMAHUNY @RYOEMMM) @IO120lw) 8>

(b) Rearrange the stages in the correct sequence
OOV (HACTHIGI af)LI®)d>
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25.

26.

27.

Answer the following questions. Each question carries 1 score.

@MIG1EN)MN GaldB}68BUILE DOHOOALIM . BIGOI B2loB @M 1
MIeHo0 alloo.

Construct a food chain using the terms given below.
Grasshopper, Frog, snake, grass
Identify the trophic levels, producer and primary secondary and tertiary

consumers.
@069 ®MMIB1EHOM alB6BBU3 DalcWIila] REH U 06RI DENBOHE)d:.

a)@8240S], @IS, alomi, al)a]

G(SOalld; @RIEBRUS  BHEENOI)E>. OMaldBHM, (alolndld, cIlolw,
(@101Q 9alGRISMIBOHOSW)I0 BeENSBTN)d>.

Construct an ecological pyramid using the data given below.
Producer : 809 kgm™

Herbivore : 37 kgm'3

Carnivore : 11 kgm™

Identify the type of pyramid.

What will be the nature of energy pyramid in this ecosystem ?

a. @9 ©MIClee)aN WIQ 2alcWoUle] alddlmudl®®:  afloala
M3 66) B>

O alor®ad : 809 kgm™
mavye)es : 37 kgm™
mooaue)es : 11 kgm™

b. ag@)®oo allelalol) @YeEMN &:66NROTN) 6.

C. 9D @AMV aljalmnwieal 9Vd2Ralealwlen @ealima
af) oW E186)0.

Two types of ecological pyramids of a marine ecosystem are given.
Analyse and answer the questions.

®seileal @RIV alyalnunaleal 6N ®®0 aloolmualo s
alloalw)ego6Mm ©06¢9 @MMIBlENM®. DAUOW QlUdd:EIMo B2l O)
Gal0BL6BBUBEE DOMOO af)PYD)d:.
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Primary Consumer

Producer

A

(a) Identify the types of pyramid

Primary Consumer

Producer

B

aB®)®00 alloalw) @YoM @10l 0lW)s:.

(b) What is the reason for the difference between the two?
©6N3)o ORNSS8 QL@ LOMVEIM) SHOOMORND ?
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16. ENVIRONMENTAL ISSUES
One word answer question. Each question carries one mark
BQOUIHE 1T HODOOALYI®)
According to the Central Pollution Control Board, particles that cause harm to human health are of

diameter:
OMUM(S@ OaldRIYAAM BeMG(SID GEIIAWIMOO BRE (I OB 1T AMYa {26I) | O 1Y

CBIHUHOAIW HEMEBBGYOS (U [OMo
a. less than 2.50 micrometers b. less than 5.00 micrometers c. Greater than 10.00 micrometers d.
greater than 7.5 micrometers

In Delhi the entire public road transport runson .................... from 2002

2002 2@ B12{10 1@ 60120y IOMEBIBE 1M Halc@IUTEMO ......... @Rem
a. Petrol b. Diesel c¢.CNG d. Butane

The algal bloom is excessive growth of ............. in the fresh water bodies

GR@OUNM o BN ol AIdRY ]y cmddileal............... UER 26

a. planktonic algae b. red algae c. brown algae d. none of these

The loudness of a sound that cause discomfort and damage ear drum is
SBEMalSO0 1M) NREAVINYS0 GEIMNIECWENINRI o0 100} O]

a. below 150 dB. b. above 150 dB. c. 0 dB d. None of these

Catalytic converters are fitted into automobiles to reduce emission of harmful gases.
It change unburnt hydrocarbons into:

#2Qallg e &eMenldgd AUDaOMEBRE 1T Ba| QDO 83608 ENQJIMIE)TY.
OO HOMIO® GROUCUDH1H6)M 00aNBWIEIBENIM 10M f)DISS 1220 M

a. CO2 and water b. CO and Water ¢. CHsand Water d. CO.and CH4
a Dobson unit measures
cadenTamem oo 1o} GegId6em
a.Sound b. Pollution c. UV ray d. Ozone
Good ozone and Bad ozone are found in
M BIETVIAM GAJUdo E3IGAVIEM ENOL dhIEMYMM
a. Troposphere and Stratosphere b. Stratosphere and Troposphere c. Stratosphere d. None of the
above
Why is it necessary to remove sulphur from petroleum products?
0al6(S28 1o H aIMEBBE 1@ MM MadB SFINDEHHNSM NG  BRAUR|HD )0 ?
a. To reduce the emission of sulphur dioxide in exhaust fumes
b. To increase efficiency of automobiles engines
c. To use sulphur removed from petroleum for commercial purposes
d. To increase the life span of engine silencers
Particulate gas pollutants from exhaust of thermal power plants removed by ............cccccoeevenis
®dalopidomlaiemgloal apH@loal Qi DO  @delln(Ereg  «ROMmE8IM

................ ©aleWIUI 86,
A Remedy for Plastic Waste iS .........ccccccvevuvenee.
o215 daflm (608D E)88 A 1@ 1nOdEAIEN.............cc...

A sustainable system for handling human excreta, using dry composting toilets.Name the system
ama§ Afldg| A oeneg ee(Ww &emdaylowylages M1daddRMo 621 Milqyo

af)@d6m ?
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12.

13.

14.

15.

16.

17.

18.

19.

Answer the following questions. Each question carries 2 marks
@26% OM 1B 186)M 62106 |EBBE: HOMOONLIOE: . 6306 G216, O IMYo 2 MY EHID

oo

Catalytic converter remove poisonous gases .lts platinum- palladium & rhodium catalyst converts
poisonous gases as follows , complete the reaction
#2Q2allgs Hemenidgd AflaHaNO@®EEa8 BF1NIEOM) o1 o]dq Mo-

aleaiwl®o & GOdXWIWo  BIQAM®E0S (aIUBROOMEID] o ly@ERAIH S
Unburnt hydrocarbons — ......... & v
Carbon monoxide —> e
-------------------------- — Nitrogen
Fuel policies in India is to control vehicular pollution
eOMM Galdg 1M1 e § @@ QA2aOM ai@larudlaellmeoeme ms@ymmy
a)what are the aim of auto fuel policy
e 100} Blb (OAQ0)
b) Name another fuel policy
@0QI®) HMWM CaldG 1M 1@OS Gal®d) wf)P)OB>
Expand the following ald@6m @Yalo aff)P0d:
1.CNG 2.JFM 2.CPCB 3.BOD 4. FOAM

Match correctly the following and choose the correct option

€210)0nlS 1621 H6)) B
A B
Environment Protection Act 1974
Air Prevention & Control of Pollution Act 1987
Water Act 1986
Air Act Amendment to include noise pollution | 1981

Write two bad impacts of global warming ?
BV IMOD MO0 PENB) EBIHOUIWEBBUD of)PYO) D

Polyblend is a remedy for plastic
Galdg106QJMDAW o JOqU 1667 1M) al@ lnOdEAI6M

1.What is the raw material for polyblend?
Galidg o6 o) @RAVCM d: Y@ MIWMEBRUD afOmL}0?

2.Blends of polyblend and bitumen help to increase road life. What is the reason?
enflQeam , Galdgloen]mal G0N GRM@YMY B 35(MY HIEMOAD) ?

Answer the following questions . Each question carries 3 marks
@26% M 1B 186 62138 |6BBUH6) OOMDO af)P)OYH . BIEOI GIdB OB 1Mo 3 MYEGHIB

Aloo.

a)What is the reason behind eutrophication and accelerated eutrophication ?
a)DI6M WYE(SIal 1686 HM)o BRE: M IRICOQA @YE(SIal 1680 Mo alflmleal (niwdm

dhI6Mo?

b)What is the aim of Euro Il norms ?
WREOI 111 6MIoMI1OM (A lWIM OEGUBo Af)ImI6N) ?

a) What is meant by deforestation ?
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b) Write 2 reasons for deforestation .

c) .Whatis jhum cultivation ?
) af)0mem UMMUBlEEMo OHIMNE HERUD 186)M® ?

b) SNOIMBE 2 HIEMEBRUD af)P)O) b
C) of)amoem 8o & ya 1 @l@i1 2
20.

I.  identify the phenomenon
ii.  Name the phenomenon that leads to overheating of earths atmosphere ?
iii.  Suggest few remedial measures to reduce it.
. e all@Om el (1@ 18Mo af)amden) ?
Il 8alwyes GRING&Ho (GAdBIMAIW] 21)S)a 15186 (IO 82T lom
o)) alO®@)M ?
. @@ &080IM88 2flel addnesd MdeEgud e

21.  Match the following: @.21@Jo alS16.2lR86))H:

A B
Montreal Protocol Slash and burn agriculture
Chipko &Bishnoy Movements Ozone Depletion
Catalytic conveter Water Pollution
Biological Oxygen Demand Deforestation
JFM Mangroves
FOAM Platinum - Palladium

22. Use of lead-free petrol or diesel is recommended to reduce the pollutants emitted by automobiles.
U2aOM al@ laudlol laalldleoemo #y0a020d el eeIdOM 0a16(SI68 uflmea

©alCWIUI 186,

1. Name the two expensive catalysts used in catalytic converter ?
2Q2al1g s &emenid3i1m Oale@dullafl@lenm omsy Aleiaola )88 ©ude(n I 663D
alo@g)d0?

2. Motor vehicles having catalytic converter should use unleaded petrol Why?
$2Qallg e &emdIB3d 988 NIaOMEBRE 1T OLIW NI BalEGSIUd HalE™IW 8e6Mo
HIEMOAND) ?
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23. Observe the below Diagram
2@ M@)e 665>

Clean air

Dirty @ir —— 1

A) WhatisA&B
A & B aJ@206mm a)P0)d
B) Explain the working of the device ?
@100} (nIURODMo BRI BE) 8
C) Write one draw back of the device ?
N 100 B3@) BaH | (LWOo )P0
24,

The above picture shows the amount of biodegradable organic matter in sewage water is very high
so it is called polluted water
a) How it is measured ?

b) Why a sharp decline of the dissolved O in sewage water occur?
32BUNIM |8 Mo@BMEBRRAS GRS 2a/lMmRAIo G AUBH® & YS)MT B/ IMIC GROY
oeflmade)m)

a) eNO GREBBOM GREESIo ?
b) af)ooResIemeIem aellmzalom 1@ Oz GREAT Halegm d:)O®IMO ?
25. The picture shows Ozone hole in stratosphere of the Antarctic region

a) How ozone formed in stratosphere ?
b) What cause the natural degradation of ozone ?
¢) How CFC cause ozone hole ?
@RMQAs1sO® ol M(S26QIM allA o 081G B3I A188M MVIWIEMAdEN)
a) 630BMVI6M HANSIE:)MOMEBROM?
b) €26MVIEM (alds @ WO (1eaIS1En0als)MOmEBOMM@OIEM ?

C) CFC a{)6BROMM@IEM 626¢miem Al1ggm ©ensda6)mMm?
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26. Identify the figure

Fish eating birds
O S pprn)
I arse Gsih
DT = pprxa)

[Cmﬁ%%‘“;k;;?nj)
© (oo 3552 o))

a) Name the phenomenon
b) How DDT leads to decline in bird population
)80 (al@182Mo af)AMI6N ?b) DDT f)6BROM@IEM aldH1NIBYODI 1M, GBIHHOAIWO)
27. UV rays reach earth through ozone hole
e26moen aflggalleyes @il alleloememw g lwloaiomym;
a) Which UV rays reach earth atmosphere and why ?
oy @ afl afleleemesrrd G &2l leaiemM® . HIEEMOAND ?
b) What is Snow Blindness ?
M'EMI BRMW® af)MMI@ )0 ?
28. Slash and burn agriculture leads to deforestation
D3O8 YO 2] &0 |.2JEUdcHo & a3 16 210 JM@ UMMUBIE@EMMBI 1My B>I@EMAI &M
a) Do you agree . why ?
m1eBud @ 1EMIS WL H6,EMI A f)aDOEBIENS?
b) Give the technical term for Slash and burn agriculture
DOEBE 20 2] SO0 | 2|6MsHo & e 16.21Q M@ LIM (@O of)edsem
GRO W A|SMy?
c) What are the merit of this agriculture ?
609 &\ H 11O I@yes cmgenamIen)

29.

N.O 6%

20%
Methane

a) Observe the figure and identify A & B

b) Theses gases commonly known as ...............

c) Among these which gases mainly cause global warming?
a) 2fl@o Mdlex e A&B @100l
b) €NV AUIMBHEBBOG 0aldOYUIWT ..o af)M alO@ym)
) BIAMIIMOD N HIOMAIH)M (A lWIMUIOEHO O

30. What is meant by FOAM ? What It is associted with ? Explain briefly.
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31.

32.

33.

34.

a)mI6M FOAM 260®) ()02 d® ] enimwen§1@ 166, 20ltaad 864
What is JFM ? which year it is launched by Govt. Of India ? What is the aim of JFM
af)m26M IFM ? )@ AUBHR6M gD § 1@ BBECE 9@ ? IFM O 93w o af)amden?
Ramesh Chandra Dagar created Haryana Kisan Welfare Club for organic farming
0080 & ) 186001 RCAUE 2118 BIN® o) BBHBHM BRYoE] 2] MoPRISM@IEM aO® 1IM
& 1TVIM OO ghenT
a)What is organic farming?
o)) a0)006M 00RO &> Yot 2
b)Discuss the benefits of organic farming through the visionary farmer who enlifted this method
enN)enD & Yo 131 @R &@ 1.of B1G ~2IBE (B 1WIW GR &:BUHM OO CRUEWEBHE
20O 1emeBRwd AN e 1665
Use of compressed natural gas (CNG) is better than Petrol and diesel

a) Do you agree .

b) Explain two merits and one drawback of CNG
$0(a MW (aldh YO DO dho 0alG(SI81eME6 80 Wlmuallemandg)o mejmdeny

a) Mledsud cIZ]ee)em)d ?

b) CNG @65 @6y 10)6MEBBE 0 B3@) M jIMM®0 af)PIO)E
Match the following
G210 alS162IRE6)H

A B
Uv-B Global warming
Biodegradable Organic matter | Eutrophication
DDT Snow blindness
Phosphates, Nitrates Water hyacinth
Terror of Bengal Biomagnification
El Nino effect BOD

Government of India providing Award for those individuals or communities from rural areas who
show extraordinary courage and dedication in protecting wildlife.
a) Name the award ?
b) What is reforestation ?
e, DAUSEM Y QM O Vo HHOM O 1T alE:dE 1S )M (1| SO 0D o0
MR aNEBBUDHO0 BRUIDW MM
a) GROIIAN @6 ?
b) af)a®I6M UMD &HE6Mo

107




